Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 5 - Carnoustie and District

5,075

3

1,269

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Bill BOWLES	Independent	569
Brian David BOYD	Independent	918
David CHEAPE	Independent	909
Mark James MCDONALD	Scottish National Party (SNP)	1,359
Joanne MCFADDEN	Scottish Labour Party	351
Beth MORRISON	Scottish Liberal Democrats	70
Terry O'HALLORAN	Scottish Conservative and Unionist	899
	Total	5,075

Candidate Mark James MCDONALD Elected with 1,359 votes, being in excess of the quota of 1,269

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Mark James MCDONALD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill BOWLES	176	0.06622	11.65472
Transfer to Brian David BOYD	177	0.06622	11.72094
Transfer to David CHEAPE	233	0.06622	15.42926
Transfer to Mark James MCDONALD	0	0.00000	0.00000
Transfer to Joanne MCFADDEN	157	0.06622	10.39654
Transfer to Beth MORRISON	109	0.06622	7.21798
Transfer to Terry O'HALLORAN	37	0.06622	2.45014
Value of non-transferable ballot papers			31.13042
	Total		90.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Beth MORRISON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill BOWLES	6	0.06622	0.39732
Transfer to Bill BOWLES	6	1.00000	6.00000
Transfer to Brian David BOYD	18	0.06622	1.19196
Transfer to Brian David BOYD	17	1.00000	17.00000
Transfer to David CHEAPE	25	0.06622	1.65550
Transfer to David CHEAPE	11	1.00000	11.00000
Transfer to Mark James MCDONALD	0	0.00000	0.00000
Transfer to Joanne MCFADDEN	40	0.06622	2.64880
Transfer to Joanne MCFADDEN	16	1.00000	16.00000
Transfer to Terry O'HALLORAN	5	0.06622	0.33110
Transfer to Terry O'HALLORAN	17	1.00000	17.00000
Value of non-transferable ballot papers			3.99330
	Total		77.21798

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Joanne MCFADDEN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill BOWLES	29	0.06622	1.92038
Transfer to Bill BOWLES	58	1.00000	58.00000
Transfer to Brian David BOYD	24	0.06622	1.58928
Transfer to Brian David BOYD	50	1.00000	50.00000
Transfer to David CHEAPE	43	0.06622	2.84746
Transfer to David CHEAPE	74	1.00000	74.00000
Transfer to Mark James MCDONALD	0	0.00000	0.00000
Transfer to Beth MORRISON	0	0.00000	0.00000
Transfer to Terry O'HALLORAN	20	0.06622	1.32440
Transfer to Terry O'HALLORAN	58	1.00000	58.00000
Value of non-transferable ballot papers			132.36382
	Total		380.04534

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Bill BOWLES

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Brian David BOYD	99	0.06622	6.55578
Transfer to Brian David BOYD	265	1.00000	265.00000
Transfer to David CHEAPE	63	0.06622	4.17186
Transfer to David CHEAPE	206	1.00000	206.00000
Transfer to Mark James MCDONALD	0	0.00000	0.00000
Transfer to Joanne MCFADDEN	0	0.00000	0.00000
Transfer to Beth MORRISON	0	0.00000	0.00000
Transfer to Terry O'HALLORAN	1	0.06622	0.06622
Transfer to Terry O'HALLORAN	60	1.00000	60.00000
Value of non-transferable ballot papers			105.17856
	Total		646.97242

Transfers Report

This report contains the transfers results.

Stage 6 - Surplus of Brian David BOYD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill BOWLES	0	0.00000	0.00000
Transfer to Brian David BOYD	0	0.00000	0.00000
Transfer to David CHEAPE	207	0.00010	0.02070
Transfer to David CHEAPE	907	0.00161	1.46027
Transfer to Mark James MCDONALD	0	0.00000	0.00000
Transfer to Joanne MCFADDEN	0	0.00000	0.00000
Transfer to Beth MORRISON	0	0.00000	0.00000
Transfer to Terry O'HALLORAN	3	0.00010	0.00030
Transfer to Terry O'HALLORAN	108	0.00161	0.17388
Value of non-transferable ballot papers			0.40281
	Total		2.05796

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Terry O'HALLORAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill BOWLES	0	0.00000	0.00000
Transfer to Brian David BOYD	0	0.00000	0.00000
Transfer to David CHEAPE	2	0.00010	0.00020
Transfer to David CHEAPE	56	0.00161	0.09016
Transfer to David CHEAPE	14	0.06622	0.92708
Transfer to David CHEAPE	416	1.00000	416.00000
Transfer to Mark James MCDONALD	0	0.00000	0.00000
Transfer to Joanne MCFADDEN	0	0.00000	0.00000
Transfer to Beth MORRISON	0	0.00000	0.00000
Value of non-transferable ballot papers			621.32860
	Total		1,038.34604